
MATHS

BOOKS - SURA MATHS (TAMIL ENGLISH)

TRIGONOMETRY

Exercise 6 1

1. From the given figure, find all the trigonometric ratios of

angle B. 

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_cWLwCgDwB2Zk


2. From the given figure, find the values of 

sin B 

Watch Video Solution

3. From the given figure, find the values of 

sec B 

Watch Video Solution

https://dl.doubtnut.com/l/_cWLwCgDwB2Zk
https://dl.doubtnut.com/l/_u1iGFxPuFTse
https://dl.doubtnut.com/l/_uaN0H9JVXhFy


4. From the given figure, find the values of 

cot B 

Watch Video Solution

5. From the given figure, find the values of 

cos C 

Watch Video Solution

6. From the given figure, find the values of 

tan C 

https://dl.doubtnut.com/l/_5J5RD5NcUxp7
https://dl.doubtnut.com/l/_4Lq2wg5vTRAo
https://dl.doubtnut.com/l/_mKPgTVTzu2Ea


Watch Video Solution

7. From the given figure, find the values of 

cos C 

Watch Video Solution

8. If , then find all the trigonometric ratios of

angle .

Watch Video Solution

2 cos θ = √3

θ

https://dl.doubtnut.com/l/_mKPgTVTzu2Ea
https://dl.doubtnut.com/l/_sUuYk8PVxi07
https://dl.doubtnut.com/l/_JvUXY3rUziqU


9. If , then find the value of 

Watch Video Solution

cos A =
3

5

sin A − cos A

2 tan A

10. If , then find the values of sin A and tan

A in terms of x.

Watch Video Solution

cos A =
2x

1 + x2

11. If , then show that .

Watch Video Solution

sin θ =
a

√a2 + b2
b sin θ = a cos θ

12. If , then find the value of 3 cot A = 2
4 sin A − 3 cos A

2 sin A + 3 cos A

https://dl.doubtnut.com/l/_Dinekd6hinaJ
https://dl.doubtnut.com/l/_DcPbKN4v1wFY
https://dl.doubtnut.com/l/_X6BXFVC4VTT4
https://dl.doubtnut.com/l/_QIacA2sI6kkH


Watch Video Solution

13. If , then find the value of 

Watch Video Solution

cos θ : sin θ = 1: 2

8 cos θ − 2 sin θ

4 cos θ + 2 sin θ

14. A boy standing at point O finds his kite flying at a point

P with distance OP = 25m. It is at a height of 5m from the

ground . When the thread is extended by 10 m from P, it

reaches a point Q. What will be the height QN of the kite

from the ground? (use trigonometric ratios)

Watch Video Solution

https://dl.doubtnut.com/l/_QIacA2sI6kkH
https://dl.doubtnut.com/l/_HAP3AijHi9cf
https://dl.doubtnut.com/l/_Neij1uYxONh4


Exercise 6 2

1. Find the value of the following: 

Watch Video Solution

+ −
tan 45∘

cosec30∘

sec 60∘

cot 45∘

5sin 90∘

2cos 0∘

2. Find the value of the following: 

Watch Video Solution

(sin 90∘ + cos 60∘ + cos 45∘ ) × (sin 30∘ + cos 0∘ − cos 45∘ )

3. Find the value of the following: 

h id l i

sin2 30∘ − 2 cos3 60∘ + 3 tan4 45∘

https://dl.doubtnut.com/l/_mslQ2zUwv2QP
https://dl.doubtnut.com/l/_R4YqKXVTSEvn
https://dl.doubtnut.com/l/_U4pZj6SoJHD2


Exercise 6 3

Watch Video Solution

4. Verify , when A = 

Watch Video Solution

cos 3A = 4 cos3 A − 3 cos A 30∘

5. Find the value of , when 

Watch Video Solution

8 sin 2x. cos 4x. sin 6x x = 15∘

1. Find the value of the following: 

( )
2

+ ( )
2

− 2 cos2 45∘cos 47∘

sin 43∘

sin 72∘

cos 18∘

https://dl.doubtnut.com/l/_U4pZj6SoJHD2
https://dl.doubtnut.com/l/_dZ7TT4KQ1LJ5
https://dl.doubtnut.com/l/_LnKkBSPvNefz
https://dl.doubtnut.com/l/_ynaeUCKjzj6F


Watch Video Solution

2. Find the value of the following: 

Watch Video Solution

+ + − 8 cos2 60∘cos 70∘

sin 20∘

cos 59∘

sin 31∘

cos θ

sin(90∘ − θ)

3. Find the value of the following: 

Watch Video Solution

tan 15∘ tan 30∘ tan 45∘ tan 60∘ tan 75∘

4. Find the value of

+
cot θ

tan(90∘ − θ)

cos(90∘ − θ)tan θ sec(90∘ − θ)

sin(90∘ − θ)cot(90∘ − θ)cos ec(90∘ − θ)

https://dl.doubtnut.com/l/_ynaeUCKjzj6F
https://dl.doubtnut.com/l/_Eot6SRTDfxpH
https://dl.doubtnut.com/l/_YXBbH2xXosKW
https://dl.doubtnut.com/l/_OtWA8VgFnLYL


Exercise 6 4

Watch Video Solution

1. Find the value of the following : 

Watch Video Solution

sin 49∘

2. Find the value of the following : 

Watch Video Solution

cos 74∘ 39'

https://dl.doubtnut.com/l/_OtWA8VgFnLYL
https://dl.doubtnut.com/l/_hKCVQVlCktgy
https://dl.doubtnut.com/l/_5Qg5x7OOWtZ8


3. Find the value of the following : 

Watch Video Solution

tan 54∘ 26'

4. Find the value of the following : 

Watch Video Solution

sin 21∘ 21'

5. Find the value of the following : 

Watch Video Solution

cos 33∘ 53'

https://dl.doubtnut.com/l/_5HoXtCbEC5bD
https://dl.doubtnut.com/l/_1oMwJlUUQlPW
https://dl.doubtnut.com/l/_eygZqxcUbA3b
https://dl.doubtnut.com/l/_FzonOME3Ch11


6. Find the value of the following : 

Watch Video Solution

tan 70∘ 17'

7. Find the value of  if 

Watch Video Solution

θ

sin θ = 0.9975

8. Find the value of  if 

Watch Video Solution

θ

cos θ = 0.6763

https://dl.doubtnut.com/l/_FzonOME3Ch11
https://dl.doubtnut.com/l/_vtCunN4wK1w2
https://dl.doubtnut.com/l/_49Itmy5Mj5xl
https://dl.doubtnut.com/l/_oezPFFGqc14a


9. Find the value of  if 

Watch Video Solution

θ

tan θ = 0.0720

10. Find the value of  if 

Watch Video Solution

θ

cos θ = 0.0410

11. Find the value of  if 

Watch Video Solution

θ

tan θ = 7.5958

https://dl.doubtnut.com/l/_oezPFFGqc14a
https://dl.doubtnut.com/l/_4jkSXUQLCBju
https://dl.doubtnut.com/l/_7OGo5bWtkGZ1
https://dl.doubtnut.com/l/_gEkMm7KOkgak


12. Find the value of the following : 

+cos24^(@)57'+tan10^(@)10'`

Watch Video Solution

sin 65∘ 39

13. Find the value of the following : 

Watch Video Solution

tan 70∘ 58' + cos 15∘ 26' − sin 84∘ 59'

14. Find the area of a right triangle whose hypotenuse is 10

cm and one of the acute angle is  24'.

Watch Video Solution

24∘

https://dl.doubtnut.com/l/_gEkMm7KOkgak
https://dl.doubtnut.com/l/_lvMRyXYDX9vp
https://dl.doubtnut.com/l/_WztCPfjAcJck
https://dl.doubtnut.com/l/_eapap4h0wBht


Exercise 6 5

15. Find the angle made by a ladder of length 5m with the

ground, if one of its end is 4m away from the wall and the

other end is on the wall.

Watch Video Solution

16. In the given figure, HT shows the height of a tree

standing vertically. From a point P, the angle of elevation of

the top of the tree (that is ) measures  and the

distance to the tree is 60 metres. Find the height of the

tree.

Watch Video Solution

∠P 45∘

https://dl.doubtnut.com/l/_eapap4h0wBht
https://dl.doubtnut.com/l/_K5mLPYa87p5D


1. If  is

A. 

B. 0

C. 

D. 

Answer:

Watch Video Solution

sin 30∘ = x  and cos 60∘ = y,  then x2 + y2

1

2

sin 90∘

cos 90∘

2. If , then the value of  is

A. 

B. 

tan θ = cot 37∘ θ

37∘

53∘

https://dl.doubtnut.com/l/_Pl3mB1a6D3Bq
https://dl.doubtnut.com/l/_cFhKAMRNJYJ2


C. 

D. 

Answer:

Watch Video Solution

90∘

1∘

3. The value of  is

A. 0

B. 1

C. 

D. 

Answer:

tan 72∘ . tan 18∘

18∘

72∘

https://dl.doubtnut.com/l/_cFhKAMRNJYJ2
https://dl.doubtnut.com/l/_rwYb2LMHDdsc


Additional Questions And Answers Exercise 6 1

Watch Video Solution

4. The value of  is equal to

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2tan 30∘

1 − tan2 30∘

cos 60∘

sin 60∘

tan 60∘

sin 30∘

https://dl.doubtnut.com/l/_rwYb2LMHDdsc
https://dl.doubtnut.com/l/_dNVAL5JZI9Ul
https://dl.doubtnut.com/l/_Ra584Ltoi09g


1. Find the six trigonometric ratios of the angle  using the

diagram 

Watch Video Solution

θ

2. If , then find the value of .

Watch Video Solution

3 cot θ = 1
3 cos θ − 4 sin θ

5 sin θ + 4 cos θ

3. If , then show that 

.

Watch Video Solution

sin θ =
a

√(a2 + b2 + c2 + 2bc)

(b + c)sin θ = (a)cos θ

https://dl.doubtnut.com/l/_Ra584Ltoi09g
https://dl.doubtnut.com/l/_2KpNl8hkdUrC
https://dl.doubtnut.com/l/_FTrJf50MkL1H
https://dl.doubtnut.com/l/_R00TDfwC9yUx


Additional Questions And Answers Exercise 6 2

4. If . Then find all the

trigonometric ratios of the angle .

Watch Video Solution

3(tan θ) + 4(sec θ × sin θ) = 24

θ

5. From the given figure, find all the trigonometric ratios of

angle B. 

Watch Video Solution

https://dl.doubtnut.com/l/_R00TDfwC9yUx
https://dl.doubtnut.com/l/_DAHUGS3WgLAs


Additional Questions And Answers Exercise 6 3

1. Find the value of  when 

Watch Video Solution

sin 3x. sin 6x. sin 9x x = 10∘

2. Find the value of

Watch Video Solution

cot 15∘ . cot 30∘ . cot 45∘ . cot 60∘ . cot 75∘

1. Find the value of .

Watch Video Solution

cos 19∘ 59' + tan 12∘ 12' + sin 49∘ 20'

https://dl.doubtnut.com/l/_tQPIVmE3KiKh
https://dl.doubtnut.com/l/_7O8aNSqnuC0W
https://dl.doubtnut.com/l/_zhLLOdknvCvk


Unit Test

2. Given that . Find the value

of .

Watch Video Solution

sin α = and tan β = √3
1

√2

α + β

3. Find the value of 

Watch Video Solution

cos 63∘ 20'

sin 26∘ 40'

1. From the given figure, find all the trigonometric ratios of

angle B. 

https://dl.doubtnut.com/l/_zM7HEItmqFVg
https://dl.doubtnut.com/l/_PLrSSHoagosk
https://dl.doubtnut.com/l/_LbwMac8RT0on


Watch Video Solution

2. From the given figure, find the values of 

sin B 

Watch Video Solution

3. From the given figure, find the values of 

sec B 

W h Vid S l i

https://dl.doubtnut.com/l/_LbwMac8RT0on
https://dl.doubtnut.com/l/_aDux04kHU6oE
https://dl.doubtnut.com/l/_uVpHrG5QR8K6


Watch Video Solution

4. From the given figure, find the values of 

cot B 

Watch Video Solution

5. From the given figure, find the values of 

cos C 

Watch Video Solution

https://dl.doubtnut.com/l/_uVpHrG5QR8K6
https://dl.doubtnut.com/l/_5wDWKSt7idsa
https://dl.doubtnut.com/l/_kNYFTL8L5L3g


6. From the given figure, find the values of 

tan C 

Watch Video Solution

7. From the given figure, find the values of 

cosec C 

Watch Video Solution

8. If , then find the value of 

Watch Video Solution

cos A =
3

5

sin A − cos A

2 tan A

https://dl.doubtnut.com/l/_vqEhKxRDUdnM
https://dl.doubtnut.com/l/_KG4BdspqEjcn
https://dl.doubtnut.com/l/_cynhZzArgx8e


9. If , then find the values of sin A and tan

A in terms of x.

Watch Video Solution

cos A =
2x

1 + x2

10. If , then show that .

Watch Video Solution

sin θ =
a

√a2 + b2
b sin θ = a cos θ

11. If , then find the value of 

Watch Video Solution

3 cot A = 2
4 sin A − 3 cos A

2 sin A + 3 cos A

https://dl.doubtnut.com/l/_cynhZzArgx8e
https://dl.doubtnut.com/l/_0KXuOfIoaVOj
https://dl.doubtnut.com/l/_JFBMzXLZcQzu
https://dl.doubtnut.com/l/_fE16uapDB2jj


12. If , then find the value of 

Watch Video Solution

cos θ : sin θ = 1: 2

8 cos θ − 2 sin θ

4 cos θ + 2 sin θ

13. A boy standing at point O finds his kite flying at a point

P with distance OP = 25m. It is at a height of 5m from the

ground . When the thread is extended by 10 m from P, it

reaches a point Q. What will be the height QN of the kite

from the ground? (use trigonometric ratios)

Watch Video Solution

https://dl.doubtnut.com/l/_n5Sl5Oj2tRyX
https://dl.doubtnut.com/l/_M7RBeEdVpxuk


14. Find the value of the following: 

Watch Video Solution

+ −
tan 45∘

cosec30∘

sec 60∘

cot 45∘

5sin 90∘

2cos 0∘

15. Find the value of the following: 

Watch Video Solution

(sin 90∘ + cos 60∘ + cos 45∘ ) × (sin 30∘ + cos 0∘ − cos 45∘ )

16. Find the value of the following: 

Watch Video Solution

sin2 30∘ − 2 cos3 60∘ + 3 tan4 45∘

https://dl.doubtnut.com/l/_NVSfwQqayqmm
https://dl.doubtnut.com/l/_iWLmW22cLFcL
https://dl.doubtnut.com/l/_8yfu8JcjGvIa



